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(A) B »zici®3 High Performance Computing
(B) m#ti& % Virtual Computing
(C) 4 » ;*i& % Embedded Computing
(D) * =& & Parallel Computing
(E) #4%:F 5 Edge Computing
2. - BEAHAGEE (CNN) ¥ o g r i) 5 28x28 (A Ff H Wﬁ)ﬁfﬁ—%S%rﬁgﬁﬁ(ﬁmw’lﬁ
# (padding=0)> # g7 1 (stride=1)> ¥ Rderje it B H i gl o R 2 S 4 rma}ic,h hBGA ) AR
(A) 28 x 28 (B) 27 x 27 (C) 26 x 26 (D) 25 x 25 (E) 24 x 24
30 THRAEFTR AASNIITAR > FRESBREAL-F1F REALLSH R (M4 A>B 27 A {5
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(A)1.0.01 & &2 IP
(B) # IP 3 192.168.xx 1 "yt & bl » HyEY B3k 4 255.255.0.0
(C)10.10.1.1 #- B2ORE IP> 7 2 434 F B R
(D) 192.168.1.1 & i s F| e et » & Jf 5 NAT JR7*
(E) # IP 3 = e pchim R B £ DNS
5. #HiFz TN ototal eniEE 0?7
intA[5]1={2,5,9, 1, 0};
int total = 0;
for (inti=0;i<5;i++) {
if (i +A[l]) %2==0)
total +=A[i];

else

total -=1;
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(A)UA-B—-E—-C—->D—-F—->G

BA—-C—-E—->B—->D—->F—-G

CA-D—->B—->C—-E—-F—->G

O)A—-D—-F->G—-E—-C—-B

EA-D—-F—-G—->B—-E->C

% Python i€ A TAFEW VA > FHF LA SRBEEE S DRFAFRREY VR RF bR T 70—
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(A) matplotlib (B) pandas  (C) scikit-learn (D) statsmodels  (E) tensorflow
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int a[1000], i, total = 0;

for (i=0; 1< 1000; i++)
a[i] =1;

for (i =0; 1< 100; i++)
total += ptr[i];

cout << total;
(A) int* ptr =&a[99] (B)int*ptr=2a[99] (C)intptr=&a[99] (D) int&ptr=2a[99] (E) int ptr =a[99]
R AR TS ’ansﬁklk.%w ?
intA[8] = {1, 3, 5, 9, 11, 15, 18, 21};
int target = 12, left = 0, right = 7, ans = -1;
while (left <= right) {
int mid = (left + right) / 2;
if (A[mid] >=target) {

ans = mid,

right = mid - 1;

} else
left = mid + 1;
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int count = 0;
for (inti=1;i<n;i*=2)
for (intj=0;j <i; j++)
count++;

(A) O(n) (B) O(log n) (C) O(nlogn) (D) O(n?) (E) O(n*log n)
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3 — B #fem B (Pre-order) 4.3* "8 B 5 ABDEKCFHJ: ¢ A& (In-order) 4_3* 5 DBKEAJHFC > 3#-F {5 A (Post-order )
R

F 7 12345678 i e PR GFenF AL @ * - A 4F 2 (Binary Search) #F » B L 3,7 > F i R AL o
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inta=13,b=5,c=2;
int *pl, *p2, *p3;

pl = &a;
p2 = &b;
p3 = &¢;
*p2 = *pl + *p3;
pl=p2;

*p3="pl * (*p3);

A @* - B =7 Q (Queue) £2- @iy S (Stack) kEITFAL > 77 7|k iF ¢
(1) #-%F# 1,2,3 & A4~ =7 Q (enqueue) -

(2) #_.Q ¢ 3da B4 (dequeue) ¥ &5 push T 3dp So

(3) #-Fig 4,5 A4 » 157 Qo

4) £i_Q ¢ 3da % (dequeue) ¥ ik 5 push % 3adfp So
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(5) /3t S ¢ Bd (pop) - BAFEAE o
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8. M fib() &' ¢ » &% ;% #7| (Fibonacci sequence) % n 38 eiE » 3+ & fib(5) P> £ g efed fib() &5t

int fib(int n) {
if (n<3)
return n;
return fib(n - 1) + fib(n - 2);

}
9. 3 - CClass & » & 4 & 32 BF ep > LRy BK 3 °
10. 2= Python #% \ﬁiﬂ:’.‘;% Y o

a=[['A', 40], ['B', 10], ['C', 30], ['D', 201]]
a.sort(key = lambda x: x[1])
print(*a[1])
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A 1 4
B 3 5
C 0 6
D 5 7
E 8 9
F 5 9
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#include <iostream>
#include <algorithm>
using namespace std;

struct Activity {
int start, end;

+

bool compare(Activity a, Activity b) {

return (1) ;
}
int main() {
Activity acts[6] = {
{1,4}, I A
{3,5}, //B
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for(inti=1;i<n;i++){

{0,6}, /IC
{57} /D
{8,9}, /IE
{59} [/F
}
intn=6;
(2) o REAERREAE
int count = 1; Il % - ¥—- 7%

int lastEnd = acts[0].end; // =4kt - H- 2 AR

<< endl;

if ( (3) Y{ /I &gty
count++;
(4)
¥
k
cout<< " 5 ¥ f4c el << (5)
return O;
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